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NOWP KD YRT 020TR PRI 9297
There is no contradiction between the two opinions of '3

OVERVIEW

The X 3 presented a contradiction between "7 of our mwn (where the
woman is not believed to claim >n%y21 qw>%) and >"1 of 70°Y N1AYR (Where the
woman is 111797 77Ww2). 1721 resolved this contradiction; by 0% NP since
the woman married the '70°Y', she first investigated and ascertained that he is
not a 9n. However no such investigation occurs when there is a nur
relationship (as in our 71wn). X237 asked that we have, however, not resolved
the contradiction between 2" (of our 71wn) and 1"7 (of 70V NIAYR). After 829
resolved that contradiction, he continues to resolve the contradiction
between the two (abovementioned) statements of >"7. Seemingly there is no
need to resolve any contradiction by "9, since this was resolved previously.
mooIn will explain why it was necessary for X327 to resolve the contradiction
in °"7, differently than was previously explained (by 7127).

— '559h 53WNnTa NRYN NPT MUY I8 KY NNIYN)
And now (according to the answer of X217), we cannot answer as we
previously answered to explain that the reason why *"9 is 2°w2»n by an N>R
10% (as opposed to N72Wn MKI, etc.), is since she investigates and when

she is certain that he is w2, only then does she marry him. This answer of
DR NP2 is not valid according to this X1pon —
— 2NAY NINING NINSPIN NNWAT 119

Since that now X219 establishes that 710°y nnX is discussing a case where

the mmY8 merely states that perhaps he is 2wa. It is obvious that if the 71X is
merely claiming X»w, then there is no 7P of NRW 1 NPT,

SUMMARY
According to X271 by 10°¥ n1aoX the woman is merely a X»w, therefore there
1s no ruling of NRW>11 NPTI2 AWX.

THINKING IT OVER

! [727] (%27) earlier on this Ty.
* In order to resolve the discrepancy by 3", X271 stated that in the case of 70°¥ nI9X (in which there is a
dispute between >"1 and 3"7) the woman is merely claiming Xnw.

1

TosfosInEnglish.com



YWY 0297 17"7 '0N R, 70 M2
1. Is there a (°"17 X2°7X) 1737772 nP12nn between 7127 and X21?

2. Seemingly mooin is stating the obvious. What was n1woIn concern
initially?!
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